0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

T T 1 1 I3 %
22.2% 14.2% 8.6% T q.5%

A7%
22.4% 125%  |5.1% 3l1%
e

16.1% 12.8% 419

O o 5] o o

69.5

22.8

38



11

71.9 20.8
12.6 12.9
47 .4 29.1
0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%
(n-295) 52.9% 22.4% 125% 70 [ paw
20 (n=36) 11.1%  |5.6%
30 (n=44) 20.5% 4,5%| 2.3%
Q
40 (n=55) | 1006 |73 | [1es
~% 040N
50 (n=50) | 22.0% [ ]
60 (n=58) 1726 | 158%  [52%] 6.o% | qau
70 (n=52) 185% | 115% [s8w| | 115K
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
(n-245) 21.9% 160% | 128% 7" || 4w
E—
20 (n=30) 30.04 10.0%
Z1EM
30 (n=30) 23.3% leaw| | 674
2
40 (n=39) 154% | 10.3% 15.4% 2.b%
2 20,
50 (n=44) | 159% 6.8% [ 68%
60 (n=45) 22.2% | 20.0% 8.9% |
70 (n=54) 29.6% | 1674 11.1%
= o
= =)
o
o
75.3 62.4

39



20

30

40

50

60

70

0%

10% 20% 30% 40% 50%  60% 70% 80% 9%  100%
1 1 1 1 1
31.5% 24.0% 2%
26.8% 27.1% 1%
37.2% 20.2% |5.4%i 3%
o D o o o
41.2 47.8%
0% 10%  20%  30%  40%  50%  60%  70% 8%  9O0%  100%
(n=295) KL 26.8% 27.1% | 7.8% || 8j
(n=36) L 25.0% 36.1% | 2lp
(n=44) XL 25.0% 29.5% | 18.2%
(n=55) % 27.3% 32.7% | 9.1%
40k
(n=50) NN 28.0% 30.0% 1 [2ox
(n=58) -. 19.0% 29.3% e [
(n=52) 9.2% 36.5% 7.7% [ 135w

40



20

30

40

50

60

70

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

100%

(n=242) 37.2% ’ 2026 |5anfff ala
(n=30) | 167
(n=30) % 6.7% | 10.0%
(n=39) |5.1% 2l6%
(n=44) - Sl | 2|3%
(n=45) 15.6% 2|2
(n=54) 9.3% 9.3%

= =

= B

0

o

36.3% 51.8%
47.1% 42.9%
10
30%
20% 30.6% 10
46.6
57.8% 68.5%
31.8 46.6% 15
18.2%

10

41



20
30
40
50
60
70

20
30
40
50
60

70

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
28.3% 22.7% | 5.6% [| 2|8k
274
26.1% 25.8% 7%
31.0% 19.0% | 7.9% 9%
i =
o
41.7% 48.8%
0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%
(n=295) 26.1% 25.8% 37% 1 4
(n=36) 33.3% [ 5.6%
/
(n=44) 31.8% | 6.8%
\50"0
(n=55)
(n=50) 26.0% 1] 2.0%
1 -lﬂ/ _—
(n=58) O] L
(n=52) [ 115%
0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%
(n=242) 31.0% — 19.0% [ 7,982 ox
(n=30) | 167%
(n=30) 6.7% | 10.0%
(n=39) 25.6% 7.7% | 26t
_———
(n=44) [ 6.8% %
=
(n=45) 20.0% | 6.7% | 22w
(n=54) 48.1% %
= i =
] o
o

42



44.2%

43.8%
10
5.5
;
ot 0% 20% 3% 40%  50% 0% 80K 90%  100%
18.4% 11.7% 3.p%
15.3% 13.2% 3{7%
22.3% 9.9% l' _4 1%
| O O O
42.1% 41.7%
46.7% 41.7%
14 40.0 53.5%

10

43



20 (n=36)
30 (n=44)
40 (n=55)
50 (n=50)
60 (n=58)

70 (n=52)

(n=242)
20 (n=30)
30 (n=30)
40 (n=39)
50 (n=44)
60 (n=45)

70 (n=54)

53.3%

46.6

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

15.3%

T
13.2% |

3J7%

13.9%

13.6%

10.9% |

18.2%

18.0%

| 8.0%

|2[o%

19.0%

| alax

—_—

 —
|58%Ii

15.4%

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

22.3%

| oo

4.1%

10.0% | 10.0%

| 133w

17.9%

5.1%

| 6.8% [1-4.5%

8.9%

4.4%

56%| 7.4%

46.1%
37.2%

44

mOO

75.0%

75.0%

36.7%

47.9%

43.

3%



0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

26.3% | I I | 12.7% 14.0%

27.1% 11.2% 14.2%

25.2% 14.5% 13.6%
a a

P%

7%

7%

| O o O
47.7% 34.5%
50.4% 34.4%
53.1% 38.2%
5
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

27.1% 11.2% | 14.2% || 2 7%
v
27.8% 8% | 1674
38.6% 9.1% | 11.4%
29.1% 12.7% | 18.2%
26.0% 12.0% | 10.0% |2.0%
7
20.7% 1556 | 19.0% EZ
/ o¥ii
23.1% 7.7%| 9.6% 9.6%

0% 10% 20% 30% 40% 500 60% 70% 80% 90%  100%
(n=242) 25.2% ' 1a5% | 6% [ a7
20 (n=30) 30.0% | 10.0%
30 (n=30) 13.3% 33.3%
40 (n=39) 25.6% 7% | 154% [ 2lew
50 (n=44) 20.5% 15.9% | 136%  |oou4as%
60 (n=45) 28.9% 20.0% | 111
70 (n=54) 27.8% 5.6%[5.66] 11.1%
C] o 5]
o o
o

45



50.5% 31.9%

44.2% 37.6%
51.9%
50.0%
65.9% 63.8%
33.3%
25
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
20.5% | 8.6% |6.1%| 31.8% | 5.0%
)
21.7% | |5.1%| 30.5% 4.4%
| 14.9% | 7.4% | 3350 | |5.8%
o | | o O
47.3% 14.7%
63.0% 13.7%
58.9% 27.7%
31.8%
29.3%
16.8
2001 2.27 2.10

46



20

30

40

50

60

(n=295)
(n=36)
(n=44)
(n=55)
(n=50)

(n=58)

(70 n=52)

20

30

40

50

60

70

0% 10% 20% 30% 40% 50% 60% 70% 80% 90Y% 100%
217% 3|4% |'5.1%| 30.5% ' |i 4 4
———
25.0% | 19.4%
2 —= \

25.0% “]| 6.8% | 18.2%

34.5% | 1005 |55%] 16.4%
24.0% | sow | 28.0% [ 4w
13.8% |5.2%| 50.0% |17%

—

44.2% | | 19.2%

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
= | “hae I| 7.4% |I E_— | [ |58
20.0% |6.7%| 16.7% | 43.3%

100% | 20.0% | 43.3% |
o —
20.5% | 12.8% | 10.3% | 30.8% |26%
7
22.7% | 150% | oaw | 22.7% | Jasu
26.7% | 17.8% |4.4%| 31.1% | | 6.7%
1305 | 148% |56 35.2% | 1am
m o
5| 5|
o
o

a7



PTA

25.1%

0.2%

PTA

0%

PTA

10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

9%

2%

A%

1.8

1.8%

420

| o = o
81%
48.8%

23.6% 34.3%

3 3 3
40.2%

16.2%
2.0%

PTA

48



30

49



5
6
5
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
T T T |
47.3% 6.7% " 5.0
| | | Y
55.3% 6.8% || 4.1
| | [ [ 7/
37.6% | 6.6% | 6.2%
| | | I
49 .6

55.3

50



